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Total Mark (420 Marks)
I- Vocabulary (50 Marks)
A- From a, b, ¢ and d, choose the most suitable word that best completes each of the

following sentences: (5 X 5 = 25 Marks)

1. The patient needs to.......u oo after the surgery for two weeks.
4. recuperate b. advocate C. compete d. aviate
2. Our cooking ..................... shared her secret recipes with her followers.
a. fibre b. border c. instructor d. caller
3. 1was askedto ..................... agifi and decorations for my father’s birthday party.
a. combat b. procure c. benefit d. conduct
4. Ifyouneeda .......ccooovnvvun.. guide for exploring cities, download Google Maps.
a. bifocal b. hostile c. detrimental d. handy

lllllllllllllllllll

3. Fresh fruits and vegetables are rich in vitamins and minerals important for

a. expression b. nutrition C. aspiration d. congestion

B- Fill in the spaces with the most suitable words from the list below:(5 X 5=25 Marks)

( public / courteously / profits / obedient / motorists / crazily )

6. My sister was crazily busy with her daughter’s wedding preparation.
/. The artist’s work was displayed in public places for everyone to enjoy.
8. My brother’s dog was always obedient and did as his owner told him.

9. The restaurant owner was pleased with the consistent profits over the years.

L0. Motorists should keep a safe distance from other vehicles to prevent accidents.
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II- Grammar (40 Marks)
| A- From a, b, ¢c and d, choose the correct answer that best completes each of the
" following sentences: (4 X § = 200 Marks)

4 I 0 Y OO S more money for my trip last year.
a. will save b. have saved C. save d. had saved
5 L I ety ey the end of the workday, my father always checks his emails,
a. Of b. Amongst c. At d. For
13 V-UnGIe has s experience in web design, but he is still learning,
a. a little b. a few C. any d. many
LB i i s o we used to play as kids, 1s now a shopping mall.
a. who b. where c. whose d. which

B- From a, b. and ¢, choose the correct answer as required: (4 X 5 =20 Marks)

15. We saw a (red, round, big) balloon floating in the air. (Reorder adjectives)

a. We saw a big, red, round balloon floating in the air-.
b. We saw a round, big, red balloon floating in the air.

¢. We saw a red, big, round balloon floating in the air.

16.The runners completed the marathon despite the bad weather conditions, (Make passive)

a. The marathon is completed by the runners despite the bad weather conditions.
b. The marathon was completed by the runners despite the bad weather conditions.
¢. The marathon will be completed by the runners despite the bad weather conditions.

17. I have made a significant progress in my research,” said my son. (Reported speech)

4. My son said that he can make a significant progress in his research.
b. My son said that he had made a significant progress in his research.
¢. My son said that he has made a significant progress in his research.

18. Your car (break down) if you don’t take care of it. (Correct the verb)

a. Your car will break down if you don’t take care of it.
b. Your car broke down if you don’t take care of it.

¢. Your car would have broken down if you don’t take care of it.
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II1- Language Functions (40 Marks)

Write what vou would say in each of the following situations: (4 X10 = 40 Marks)

19, Someone helped you carry your heavy grocery bags.
Thanking / Saying why one is pleased

20. Your phone battery is low, and you need to make a call.
Asking for permission / Requesting politely

21.Your teacher believes that everyone in the world will be able to speak English.

Expressing agreement /Expressing disagreement / Expressing Opinions.
22. As soon as your brother gets his pocket money, he spends it the first time he goes out.
Expressing obligation / Making suggestions / Giving advice.

Any reasonable response is to be accepted.

IV- Set Book (30 Marks)

Answer onlv THREE of the following questions: (3x10=30 Marks)
23. What things should you add to your daily diet to enjoy a healthy life? (Mention one )

I should add probiotic drinks. / ... fruits. / ... vegetables. / ... green tea. /... dark
chocolate to my daily diet.

24. How can we reduce the amount of energy used in our cars?

We can share cars. /... use public transportation. / ... replace our big cars with
smaller ones. / ... use alternative modes of transportation.

25. In what way will housework change in the future?

We will have more spare time because robots will be doing almost any job in and
around or homes, including cleaning, washing, gardening and mail delivering.

26. Which piece of advice was given by Lugman to his son ?

Showing gratitude to parents. / Establishing regular prayer. / Forbidding what is
wrong. / Being moderate / Lowering your voice.

Any reasonable answer is to be accepted.




Al )l Gmdaall
2024 - 2023 Jalsmd! ranl yol] gt = puilndl idacall (i hoadimi®fl) (98 i W1 A

—_— T e e e T

V- Writing (100 Marks)

Write on the following topic: (Expository

A Kkind person always shows respect,

Plan and write an essay of 12 sentences (140 words) explaining why it is important to
respect and tolerate other people, and what can be done to ensure that people respect

each other.

S T ——

NB: (Your writing should include an introduction, two-body paragraphs, and a conclusion)

Outline (20 Marks
Introduction:
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Paragraph 2:
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Conclusion:
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. fid  Paragraphing Handwriting,
| Outlining } ol 1 gas - and number | Spelling | Grammar spacing and | Total
| cnhi]:ence II of sentences punctuation
" 10 10

* Off point topic / outline receives ZERO,
5 marks to be deducted from the outline if the ideas are not used in the topic,

20 marks to be deducted from the total mark for changing the format.
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VI- Reading Comprehension (80 Marks)

Read the following passage carefully, then answer the questions below:

Clothing is something we all should wear regardless
where we live and who we are. Clothes are available and can be
bought in most street shops. Supermarkets are also beginning to
sell clothes. Clothes are for keeping people warm or serving as
protection from the strong burning sun. Certain items of clothing
can be expensive, especially if they are made by a well-known
brand. While clothing is affordable for most people, the price
usually depends on the quality of the material used.

There are factors that affect the type of clothing people wear. These include the place,
the culture of the society, the occasion and the weather conditions. Here in Kuwait, people still
wear the traditional dress because it's a comfortable part of their heritage and reflects our Islamic

culture. Men wear Dishdasha, Ghotra and Igal while women wear abaya.

The type of clothing we wear usually depends on the occasion. People that attend a
wedding usually wear formal clothes. Men often wear suits and women wear dresses. Formal
clothing is often worn in times of celebration. People often wear different clothing at work.
Some jobs require people to wear a special uniform which should be worn by all employees. A
pilot, doctor or air hostess may be required to wear a uniform so that all the staff can be easily
recognised. Firemen wear special clothes that protect them from dangerous conditions like fires
and smoke. Other jobs are less strict and may allow people to wear casual clothes. Construction
workers are usually asked to wear protective clothing, especially when the site is considered

highly dangerous.

People often choose to wear comfortable clothing inside their own home. This choice

of clothing may be very different to the clothing they would normally wear outside. Some people
even stay in the same type of clothes all day on the weekend when they plan to relax and not go

anywhere. People often wear clothing which matches their lifestyles.
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27. The main idea of the 3" paragraph is:

a. Women always wear formal clothing,

b. Different jobs require different clothing.

¢. Doctors wear a uniform for different reasons.
d. The difference between men and women is big.

28. The underlined word "protect" in the 3" paragraph means:

d. Save
b. alarm
¢. observe
d. activate

29. The underlined word "they" in the 1% paragraph refers to:

a. people

b. most strect shops

C. supermarkets

d. certain items of clothing

30. According to the 1* paragraph, the price of clothing mainly depends on:

a. the job of a person.

b. the quality of the material.
c. the weather conditions.

d. the heritage of the country.

31. According to the passage, all of the following statements are TRUE EXCEPT:

a. People often wear different clothing at work.

b. Some jobs require people to wear special uniforms,

¢. People attending weddings usually wear causal clothes.
d. People wear comfortable clothes inside their homes.
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a. convince people to wear uniforms,

b. describe the quality of casual clothes.

¢. show the dangers of formal clothing at home.

d. inform people about different types of clothing.

B- With reference to the passage, answer the following questions: (2 X 10 = 20 Marks
33. Why do Kuwaiti people still wear their traditional dress?

[t's comfortable. / it's a part of their heritage. /It reflects their Islamic culture.

34. What makes firemen wear special clothes?
To protect them from dangerous conditions like fires and smoke.

Any reasonable answer related to the passage is to be accepted.
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Read the fﬂllﬂwing passage, then do as required:
The governments have been

asked to take serious actions to
encour: Ing i ity 1 ~

ourage cycling in the City for many reasons. If cycling becomes
part of people's culture, they will get used to it. The benefits of

cyching are so many. There will be less traffic congestion in cities.

There will also be fewer motorized vehicles on the road which means
less noise and less air pollution. More school children will be cycling
to school rather than depending on school buses, private cars or motorcycles. Moreover, cycling
is a healthy activity which helps conserve the environment indirectly and improves your overall
fitness level as well.

In a paragraph of FOUR sentences ONLY, summarise and paraphrase the passace
above in answer to the following question:

Why is cycling important for people?

The answer should include the four following ideas:

* Leading to less traffic congestions in cities.

* Having fewer motorized vehicles on roads / reducing noise / reducing air pollution

* Minimizing the dependence on school busses and private cars.

* Practising healthy activities / conserving the environment indirectly / improving

overall health.

’ Content f’ relevance of Paraphrasing Spelling and Forinas Total

o ideas : _ " grammar

£ 30 20 | 5 5 60
= e S |

* Copying the whole paragraph receives ZERO.
* Exceeding the required number of sentences:
- Minus 5 marks for one sentence.
- Minus 10 marks for two sentences and above.
9
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VIII- Translatiun: (20 Marks)
Translate the followi

1g into good English: (2X10 = 20 Marks)
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Salem: How can | be a successful bank manager?

Hamad: To

orthy,
become a successful bank manager, you have to be honest and trustworthy
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